THAY Fi—)VEER
1000&Y1)-X

R SKEEEAS Y — b RS WAA-b M2 R SWAL/Y-h M2
M12X4nFR 870 20 870 270
135 600 1351 270
R —— - S 2
'% L | | / o
| o
] g Ll / \)‘ ~
= i
- ‘_“i‘— / | . ]
o ) oS
o o o - -
= | . = S| =
o = — — —
B 860 ! ]
Sl gl |1 S R
| sl
P L ) _
= S~ =
80 1000 80 80 1000 \ 80
1160 1160 \
\c;a-sstﬁ:im»f =k
MI2X 45 FR
) 5 G T
3 D . = EmE o 100 | 300 | 200 | 300 | 400 | 500 il
2017.02.28 [3 ERALE  ZEAEM R emeor 26 [3 CR- k4 Y-hEER BEREED 11000000 | 1362ke | 75ke |2 O O
2017.12.22 |2 J9p7oh-nyF - EREE Hig i | H 395kg 250ke 642ke
o1 [z ) R 3 N s o
THAY Rik—JL  HiEE %1 1000X1000X900H (CR) Rl 1720 [a] 20160331 [5G Hton R




A F &
870 HEH
135 600 135 W i B
Vi (4P
S e S I
|
I
LA
[ o5 |3 memEaemEm  |5|0L)E0
% » T =Ta
B B
: :
| THAY RR—JL ERFR 2 CRUYY 600 x| 7oke  |&| 1720 [s| 2016.05.26 |g|CDIR(G) e VE=:




1000&Y1)-X

A - A T E A
CR-HKEEFRA VY —k
/ M12X 45 R CR-JEBEEHA Y —b
1160 / M12X 4 FR
< H— 1160
SHlA T —h 155 600 | /405 /
M16 X 447 ‘ ‘/ 155 600 405
2 — 6| 2 T 1/
= \’ll*_d ! v S o o RN 7/ =
S - 1 f =3 Q = T 3
Z g N S D16 N /
40| (80| 320|140 580 D16 - .
80 1000 80 / /i N
2 2600 ( 5 &
D16 | W N
/ N
= g /
_ N/
A s e T AJ
~ D16 D16 D16
40180 320 280 320 (80| 40
SMBIA L —k 80 1000 80
M16 X 417
1160
x| 20170220 |§| wREE:wEEM |G| &
S 000628 17| A MIEEE ul &
5 o 2| RSEEFA(A-bEM (8] |=
% " ) "
H =
N o % : N
S THAY Rk—)L  EHFR 2| 1000_£28100 8| 395ke 1/20 |2 2016.05.25 |@| )| BRen U




1000&YY-X

A - F H|
1160
m‘;’z‘/%— b 80 1000 80 Ml b — k R H—h
HA ; 5

i M12X 8 7 Ff 40 100 880 10070 MI2X8ART

< | L il

T Im — : = =

g | g d 9

| i D10
D10 D10
40| 100 440 580 2 g =
Ti J_T
WJ. | | 5 8
50 1000 80
1160
S EIA B —b
M16 X 44T
HEE RN ;;,
#l 20190625 || sMs-MaBEE .
% 2] 4 [
8 g E] R
A THAY Rk—)L ERER 21 100059300 gl 250ke || 1720 2016.05.26 |m| | B uH




10008Y1-X

-

A - A a1
1160 .
SMElA 2 —b R B —k R > —h
M16 x 45 FfF 80 1000 80 M12 x 84 Ff / M12 X 84 FR
35 85 270 380 270 8535
B\ g [T 1 T
S-_—_ }\:‘ —_—_—_::‘:i:/——“"*: ‘ —1 ' l!/ i =
| 860 301
gl |7 = i lg| 8 013
- 013 260 | 7l T )
;|L/ == _:__:::_.____.\_‘Jl) L :! S - D13 = s
A== R OINIEE
S / 200
MUY —b / 35/(85] 270 | 190 580 A A
M20 X4 1 B - T— _T
/
80 1000 80
1160
SMAlA 25—
MI6X4 1R - M20X4HFR
¥l 170220 |2] mezE: wxzmRem  |® ’%\} )g%
HIEIAE AEIE: rraRE 65 /\E
E| 20220019 |G| SMAMvE-H20:EM M 3 €
: % 3 7 -
S THAY Kk—)b REHR 2l 1000F&p500 | b42ke |g 1/20 |2| 2016.05.25 |5|C0|% () BReH IR




